FORM A: BID (See B9)

1.	Contract Title	PROVISION OF REMOV	AL OF DUTCH ELM DISEASED	TREES
2.	Bidder			
		Name of Bidder		· · · · · · · · · · · · · · · · · · ·
		Usual Business Name of Bidde	r as it appears on Invoice (if different fron	n above)
		Street		
		City	Province	Postal Code
		Email Address of Bidder		
		Facsimile Number		
	(Mailing address if different)	Street or P.O. Box		
		City	Province	Postal Code
		GST Registration Number (if a	oplicable)	
		The Bidder is:		
	(Choose one)	a sole proprietor		
		a partnership		
		a corporation		
		carrying on business und	er the above name.	
3.	Contact Person	The Bidder hereby author the Bidder for purposes of	orizes the following contact person of the Bid.	on to represent
		Contact Person	Title	·····
		Telephone Number	Facsimile Number	
4.	Definitions		ed in the Contract shall have seneral Conditions and D3.	the meanings
5.	Offer		s to perform the Work in accor	

appended hereto.

6.	Commencement of the Work	The Bidder agrees that no Work shall commence until he/she receipt of a notice of award authorizing the commencement of the W	
7.	Contract	The Bidder agrees that the Bid Opportunity in its entirety shall deemed to be incorporated in and to form a part of this notwithstanding that not all parts thereof are necessarily attached accompany this Bid.	offer
8.	Addenda	The Bidder certifies that the following addenda have been received agrees that they shall be deemed to form a part of the Contract:	and
		No Dated	
9.	Time	This offer shall be open for acceptance, binding and irrevocable period of ninety (90) Calendar Days following the Submission Deadli	
10.	Signatures	In witness whereof the Bidder or the Bidder's authorized official officials have signed this	al or
		day of , 20	
		Signature of Bidder or Bidder's Authorized Official or Officials	
		(Print here name and official capacity of individual whose signature appears above)	
		(Print here name and official capacity of individual whose signature appears above	

FORM B: PRICES (See B10)

PROVISION OF REMOVAL OF DUTCH ELM DISEASED TREES

UNIT PRICES

	PRICES				T
ITEM NO.	DESCRIPTION	SPEC. REF.	UNIT	APPROX. QUANTITY	UNIT PRICE
	ION A – South Winnipeg-St. Norbert	IXLI .		QUANTITI	TRIOL
0201	101171 Count Willings Ct. Holbort				
1.	Boulevard Elm Removal Services	E3	each	69	
	Sec A Class 1 (0 cm to 39.9 cm)				
2.	Boulevard Elm Removal Services	E3	each	21	
	Sec A Class 2 (40 cm to 79.9 cm)				
3.	Boulevard Elm Removal Services	E3	each	1	
	Sec A Class 3 (80 cm and greater)				
4.	Private Property Elm Removal	E4	each	221	
	Services				
	Sec A Class 1 (0 cm to 39.9 cm)				
5.	Private Property Elm Removal	E4	each	69	
	Services				
	Sec A Class 2 (40 cm to 79.9 cm)				
6.	Private Property Elm Removal	E4	each	11	
	Services				
0505	Sec A Class 3 (80 cm and greater)				
SECT	ION B – Daniel McIntyre, Point Dougla	as			
7.	Boulevard Elm Removal Services	E3	each	19	
	Sec B Class 1 (0 cm to 39.9 cm)				
8.	Boulevard Elm Removal Services	E3	each	322	
	Sec B Class 2 (40 cm to 79.9 cm)				
9.	Boulevard Elm Removal Services	E3	each	60	
	Sec B Class 3 (80 cm and greater)				
10.	Private Property Elm Removal	E4	each	50	
	Services Sec B Class 1 (0 cm to				
	39.9 cm)				
11.	Private Property Elm Removal	E4	each	79	
	Services				
	Sec B Class 2 (40 cm to 79.9 cm)				
12.	Private Property Elm Removal	E4	each	14	
	Services				
	Sec B Class 3 (80 cm and greater)				
SECT	ION C – Elmwood-East Kildonan, St. E	Boniface, Tra	nscona		
13.	Boulevard Elm Removal Services	E3	each	94	
	Sec C Class 1 (0 cm to 39.9 cm)		54511		
14.	Boulevard Elm Removal Services	E3	each	113	
	Sec C Class 2 (40 cm to 79.9 cm)	1			
15.	Boulevard Elm Removal Services	E3	each	20	
	Sec C Class 3 (80 cm and greater)			_	
16.	Private Property Elm Removal	E4	each	131	
	Services				
	Sec C Class 1 (0 cm to 39.9 cm)				
17.	Private Property Elm Removal	E4	each	227	
	Services				
	Sec C Class 2 (40 cm to 79.9 cm)				
18.	Private Property Elm Removal	E4	each	35	
	Services				
	Sec C Class 3 (80 cm and greater)				

FORM B: PRICES (See B10)

PROVISION OF REMOVAL OF DUTCH ELM DISEASED TREES

UNIT PRICES

	PRICES		1	1	
ITEM	DESCRIPTION	SPEC.	UNIT	APPROX.	UNIT PRICE
NO.	l ION D : River Heights-Fort Garry, Cha	REF.	vodo Wh	QUANTITY vto Pidgo	PRICE
SECT	ION D. River Heights-Fort Garry, Cha	neswood-ru	Xeuo-vvii	yte Muge	
19.	Boulevard Elm Removal Services	E3	each	26	
	Sec D Class 1 (0 cm to 39.9 cm)				
20.	Boulevard Elm Removal Services	E3	each	150	
	Sec D Class 2 (40 cm to 79.9 cm)				
21.	Boulevard Elm Removal Services	E3	each	9	
	Sec D Class 3 (80 cm and greater)				
22.	Private Property Elm Removal	E4	each	131	
	Services				
	Sec D Class 1 (0 cm to 39.9 cm)				
23.	Private Property Elm Removal	E4	each	162	
	Services				
	Sec D Class 2 (40 cm to 79.9 cm)				
24.	Private Property Elm Removal	E4	each	37	
	Services				
	Sec D Class 3 (80 cm and greater)				
SECT	ION E : Mynarski, North Kildonan			l	
	· · · · · · · · · · · · · · · · · · ·				
25.	Boulevard Elm Removal Services	E3	each	85	
	Sec E Class 1 (0 cm to 39.9 cm)				
26.	Boulevard Elm Removal Services	E3	each	220	
	Sec E Class 2 (40 cm to 79.9 cm)				
27.	Boulevard Elm Removal Services	E3	each	33	
	Sec E Class 3 (80 cm and greater)				
28.	Private Property Elm Removal	E4	each	103	
	Services				
	Sec E Class 1 (0 cm to 39.9 cm)				
29.	Private Property Elm Removal	E4	each	139	
	Services				
	Sec E Class 2 (40 cm to 79.9 cm)				
30.	Private Property Elm Removal	E4	each	36	
	Services				
	Sec E Class 3 (80 cm and greater)				
SECT	ION F: St. Vital				
31.	Boulevard Elm Removal Services	E3	each	126	
	Sec E Class 1 (0 cm to 39.9 cm)				
32.	Boulevard Elm Removal Services	E3	each	47	
	Sec E Class 2 (40 cm to 79.9 cm)				
33.	Boulevard Elm Removal Services	E3	each	4	
	Sec E Class 3 (80 cm and greater)				
34.	Private Property Elm Removal	E4	each	301	
	Services				
	Sec E Class 1 (0 cm to 39.9 cm)				
35.	Private Property Elm Removal	E4	each	120	
	Services				
	Sec E Class 2 (40 cm to 79.9 cm)				
36.	Private Property Elm Removal	E4	each	14	
	Services				
	Sec E Class 3 (80 cm and greater)				

FORM B: PRICES (See B10)

PROVISION OF REMOVAL OF DUTCH ELM DISEASED TREES

UNIT PRICES

	PESCRIPTION	SPEC.	UNIT	APPROX.	UNIT
ITEM NO.	DESCRIPTION	REF.	UNII	QUANTITY	PRICE
	ION G : Fort Rouge-East Fort Garry	1			1
37.	Boulevard Elm Removal Services	E3	each	23	
	Sec D Class 1 (0 cm to 39.9 cm)				
38.	Boulevard Elm Removal Services	E3	each	184	
	Sec D Class 2 (40 cm to 79.9 cm)				
39.	Boulevard Elm Removal Services	E3	each	16	
	Sec D Class 3 (80 cm and greater)				
40.	Private Property Elm Removal	E4	each	60	
	Services				
	Sec D Class 1 (0 cm to 39.9 cm)				
41.	Private Property Elm Removal	E4	each	119	
	Services				
	Sec D Class 2 (40 cm to 79.9 cm)				
42.	Private Property Elm Removal	E4	each	25	
	Services				
	Sec D Class 3 (80 cm and greater)				
SECT	TION H : St. James-Brooklands, St. Ch	arles, Old Kil	donan		
10	I	l = 0		T 00	
43.	Boulevard Elm Removal Services	E3	each	39	
	Sec D Class 1 (0 cm to 39.9 cm)			_,	
44.	Boulevard Elm Removal Services	E3	each	74	
4-	Sec D Class 2 (40 cm to 79.9 cm)				
45.	Boulevard Elm Removal Services	E3	each	1	
4.0	Sec D Class 3 (80 cm and greater)				
46.	Private Property Elm Removal	E4	each	97	
	Services				
	Sec D Class 1 (0 cm to 39.9 cm)				
47.	Private Property Elm Removal	E4	each	94	
	Services				
	Sec D Class 2 (40 cm to 79.9 cm)		l .		
48.	Private Property Elm Removal	E4	each	12	
	Services				
	Sec D Class 3 (80 cm and greater)				

Name of Bidder	 	